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DIPLOMA IN DAIRY TECHNOLOGY (DDT)

Term-End Examination
June, 2012

BPVI-011 : MILK PRODUCTION AND
QUALITY OF MILK

Time : 2 hours Maximum Marks : 50

"Note: Attempt any five questions.
All questions carry equal marks.

1.  Fill in the blanks : 10x1=10

(@) India ranks in milk production.

(b) Amul was set up in the year

() NBAGR is located at

(d) CIRB is located at

(¢) Mineral present highest concentration in
goat milk is

(f) Capital used to meet the day to day
expenses is

(g) Cross breed develop by HFX Tharparkar is

00746

(h) The non descript animal through grading
up become like pure breed in
to generation.

(i) Famous buffalo breed with its breeding tract
in Rahtak, Jind is

() The day from which a cow stops giving milk
to the day it calves is called

BPVI-011 1 P.T.O.



2. Write True or False against each statements. 10x1=10

(a) The most famous exotic cattle breed is
Holstein Friesian. ()

(b) In buffalo milk calcium present in highest

concentration. , ()
(c) Karan Swiss is a cross breed. ( )
(d) The navel of the calf should be painted with

antiseptic solution. ()

(¢) The system of rearing a calf from its mother
is weaning system. ( )

(f)  Foot and Mouth disease is caused by virus. ()

(g) Incidence of abortion during 7 to 9 month

of pregnancy because of Brucellosis . ( )
(h) The normal body temperature of cattle is
- 101.5°F. ()
(i)  Thealveoli cells responsible for the secretion
of milk. ()

() Tatooing is a method of identifying (

N

individual animals.

3. Write full form of following abbreviétions. - 10x1=10

(a) NDDB (b) FAO

(c) NDRI (d) IVRI

(e) BAIF () TMDD
(8 ICDP (h) OF

(1) SMP G) VMPCS
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4.  Write short notes on any five: 5x2=10
(a) Weaning
(b) Colostrum
(c) Goat milk
(d) Brucellosis
(e) Cross breeding
(f) Neutralizers in milk

(g) Organoleptic test of milk.

5.  Select the most appropriate answer : 10x1=10

(@) Which of the following is not a fat soluble
vitamin ?
(i) Vitamin A (ii) Vitamin E
(iii) Riboflavin (iv) Vitamin D

(b) Which of the following is not a exotic breed
of cattle ?
(i) Karan Fries (i) Brown Swiss
(i) Red Dane (iv) Jersey.

‘(c)  Which of the following is not a exotic breed
of goat ?
(i) Alpine (ii) Saanen

(iii) Toggenberg (iv) Beetal

(d) Thecows during last 6-8 weeks of pregnancy
called :
(i) Down calver (i) Broken mouth

(iii) Lactating cow (iv) none.
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(e)

()

()

\);
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The dry matter requirement of milk giving
animals is:

(i)  25to 3.5% of body weight

(i) 4.5 to 5.5% of body weight

(iii) 6.5 to 7.5% of body weight

(iv) None.

An ideal length of dry period is about :

(i) 60 days (i) 90 days

(iii) 120 days (iv) 180 days.
Which one is viral disease ?

(i)  Foot and Mouth disease

(i)  Brucellosis

(i) Haemorrhagic septicaemia

(iv) None.

Polyvalent tissue culture vaccine used
against :

(i)  Foot and mouth disease

(i)  Brucellozis -

(ii) Both (i) and (ii)

(iv) None.

The per annum growth of milk production
in the country is approximately :

(i) 50-55% (i) 8.0-85%

@{iii) 9.0 - 9.5% (iv) None.

The somatic cells up to 2.5 laks is consider
as :

(i)  Normal

(i)  Subclinical mastitis
(ili) clinical mastitis
(iv) none.



6. Differentiate between any five of the following :

(a) Karan Swiss and Karan fries 5x2=10
(b) Milk and colostrum
(c) FMD and Brucellosis
(d) Acidophiles and Alkanophiles
(e) Natural acidity and developed acidity
(f) Cow milk and Buffalo milk
(g) Saanan and Surti.
7.  Give brief answer of any four : 4x2Y=10
(a) Hansa test
(b) Urea in milk
(c) Skim milk
(d) Gerber method for fat determination
() Refrective index of milk and ghee
(f)  Viscosity of milk .
(g) Minerals in milk.
8.  Write on any two of the following : 5x2=10

(a) Physical and Environment requirement for
microbial Growth.

(b) Milk and public health

(c) Cleanliness of milking equipment and
utensils.

(d) Artificial Insemination.
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1. foa wm & gfd s 10x1=10
(a) uRd & Y FA&A § WA )
(b) TGS F T, T ¥ g
() TRTHRIAR _ _ ¥ feerm %1
d) Hem.araR, H fem 2
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(i)

@)

Ueqe Sfig fal § 9@ Tea-89 ot gufas
¥a =t 7% 7

T 59 {7 | gy 3 98 W A T a1 wwe
F 99 A & fE a% = eafy

FgAT

2. frtafEd sl & 9 @@ an Tera & e ot

(a)

(b)

(c)
(d)

(e)

()
(8)

(h)
(1)
()
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3. frefefed Se ¥ QT fare

()
(b)
(©)
(d)
e)
)

(8)
(h)
@)

()

4. fodl g ga ¥ e fafau

()
(b)
(©)
(d)
(e)
)
(8)
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5. Haifu® ITgE W HT TIT HY : 10x1=10
(a) F=fafes 4 @ FF-91 9@ gomsia faafm
TR? '
() faafma (i) foarfa= ¢
(i) FErRfE (iv) foatmm €
(b) Fr=fafaa & @ F-9 g =) s w78

?? \
() FE FEH (i) A fam
(i) YT (iv) St
() Tmfafes # @ - a0 *t foewh 7w
TR?
(i) T i) @A
(iii) et (iv) dfew
(d) wviaEn % 3ifa 6 - 8 Twl & R MY Faa
g:
() ST BN
(i) ST A=Y
(ili) IR M

(iv) S9daa # | #¢ Tl
() U T % Y sravaE ToF MR ¥ :
(i) T IR H 259 35%
(i) T IR F45F55%
(itf) T IR H 65 7.5%
(iv) IwdEa # | #E oft e

BPVI-01i 10



© Fii mafa S ared W &, e
() 60fE @) 90 f&
(i) 120 f& (iv) 180 f&a
(g) Frafafies 3§ & w1 awRe 318 2
() T Heww A
(i) S
(i) TIGF qfeqfm
(v) ST H | FE T
(h) difedere fovy wem daa =1 waw, foe am
Q a9m@ & fog fFm s R 2
() T e I
(i) SIS
(i) (i) T (i) S
(v) Swdw H § F18 off 7
@) 9 H gy S B A A gfg @, @
‘ () 5.0-55%
(i) 8.0-85%
(iii) 9.0 - 9.5%

(v) Sedad ¥ | w18 o 7
G) —Orifesw wiwe H 2.5 AHE T TE SIS
@ @
(i) ST A
(i) “afE ARl
(v) STg= A e off T
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6. [l gia ¥ i wre Fifve . 5x2=10
(a) HE a9 @ w3 B9
(b) 3 TH Heig
() TH T et
(d) REh ud et A
(e) ViHlas oTran v fawfaa srran
() TE TS FH F gy
(8) WFA T
7. Fonegl i WE ¥ 3w  4x2%=10
(@) 1w
(b) J¥H g
() Wagy
(d) = frafor &6 ek fafy
(€) T TE w1 egdeiE
() Y = fowpfam
(g) 3T H @MW T

8. [l gt w ey ¥ fafaw : 5x2=10
() HEiEE gig & fa smavas dife wRaw
(b) 3 TE A @
(€) T SUH TE WH Y WH-THE
(d) S Ty
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